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Question-1
Modern farming methods require more inputs, which are manufactured in industry. Do you agree?
Solution:
No doubt, modern farming requires more inputs than traditional farming.
These are:
chemical fertilizers
pesticides
pump sets
farm machinery
electricity
diesel
HYV seeds
water supply
Most of these input like fertilizers, tools, and implements are manufactured in industry. HYV seeds are developed in agriculture research laboratories. Machine industry provides various kinds of implements, irrigation pumps and farming machinery to improve productivity and minimize farming efforts. Chemical and soil engineering based industry provide fertilizers and pesticides to boost agriculture. Water supply is done by canals and tanks. Electricity is supplied by powerhouses.
Question-2
How did the spread of electricity help farmers in Palampur?
Solution:
Electricity came early to Palampur. Its major impact was to transform the system of irrigation.InPalampur, electricity powers all the tube wells in the fields and is used in various types of small business. People saw that the electric-run tubewells could irrigate much more than the ordinary ones.
Question-3
Is it important to increase the area under irrigation? Why?
Solution:
Yes, it is very  important to increase the area under irrigation because if a country has to increase its production it has to increase the irrigational area. Since,  the size of land is fixed which cannot be further increased. Hence , to increase the area under irrigation is the only way to rise farm productivity
Question-4
Why are the wages for farm labourers in Palampur less than minimum wages?
Solution:
A waged labourer might be employed on a daily basis, or for one particular farm activity like harvesting, or for the whole year. Most small farmers have to borrow money to arrange for the capital. They borrow from large farmers or the village moneylenders or the traders who supply various inputs for cultivation. The rate of interest on such loans is very high. They are put to great distress to repay the loan. Hence they pay very low wages to the farm labourers.
Question-5
What are the different ways of increasing production on the same piece of land? Use examples to Explain.
Solution:
I.To grow more than one crop on a piece of land during the year is known as multiple cropping. It is the most common way of increasing production on a given piece of land. All farmers in Palampur grow at least two main crops; many are growing potato as the third crop .
II. Farmers can also increase their production of crops through modern farming methods. In this farmers can make use of HYV seeds ,chemical fertilizers, pesticides and modern machineries to increase the farm productivity.
Question-6
How do the medium and large farmers obtain capital for farming? How is it different from the small farmers?
Solution:
Medium and large farmers have their on savings from the surplus farm production. This saving can be used by them as capital for farming. Also so they can take bank loans easily e to arrange for capital.
On the other hand the small farmers, cannot take the bank loans easily .hence ,they depend upon the large farmers, money lenders and traders to borrow capital for farming.They are thus able to arrange for the capital needed.
Question-7
On what terms did Savita get a loan from Tajpal Singh? Would Savita’s condition be different if she could get a loan from the bank at a low rate of interest?
Solution:
Savita was a small farmer. She planed to cultivate wheat on her 1-hectare land. Besides seeds, fertilizers and pesticides, she needed cash to buy water and repair her farm instruments. She estimated that his working capital itself would cost a minimum of Rs 3,000. She did n’t have the money, so she decided to borrow from Tejpal Singh, a large farmer. Tejpal Singh agreed to give Savita the loan at an interest rate of 24 per cent for four months, which was a very high interest rate. Savita also had to promise to work on his field as a farm labourer during the harvest season at Rs 35 per day. In contrast, if she has taken loan from Bank then and the interest would be  very less which further help her to manage savings for future capital.
Q.8 describe the various non farm production activities taking place in your region
Solution:
1. Dairy - Dairy is a common activity in many villages. people can feed their cattles and sold the milk and milk products in the market to earn  some incomes.
2. Small scale manufacturing- manufacturing can be done on a small scale to convert agricultural raw materials into finished goods. such as conversion of sugarcane into jaggery.
3. Shopkeeping- the traders are also shopkeepers who buy quantities in bulk from wholesale market and sell them in small quantities to villagers.
4. Transportation- it is another way of earning incomes. People can use various vehicles suggest tractors ,bullock carts, jeeps which carry people and goods from one place to another.
Q.9  What can be done so that more non-farm production activities can be started in villages?
Solution:
Following steps can be taken to increase non farm production activities in villages
I. Government can provide loans at low interest rates various peoples which can be used buy them to start small scale enterprises.
II. Farmers can use their Cattles  for transportation purpose.
III. Manufacturing can also be done on a small scale by the farmers.


                                                     Chapter 2 
                                              People as Resource

Question-1
What do you understand by ‘people as a resource’?
Solution:
‘People as Resource’ is a way of referring to a country’s working people in terms of their existing productive skills and abilities. Human resource is an asset for the economy rather than a liability. Population becomes human capital when there is investment made in the form of education, training and medical care. In fact, human capital is the stock of skill and productive knowledge embodied in them.
Question-2
How is human resource different from other resources like land and physical capital?
Solution:
Human capital is in one-way superior to other resources like land and physical capital: human resource can make use of land and physical capital. Land and physical capital cannot become useful on its own.

Question-3
What is the role of education in human capital formation?
Solution:
Educated people find jobs in private firms while the uneducated people continue with the same work as their parents. They earn a meagre income like their parents, which is just enough to support a family. Several years of education adds to the quality of labour. This enhances their total productivity. Total productivity adds to the growth of the economy. This in turn pays an individual through salary or in some other form of his choice. It is a known fact that with investments made on education and health; one can yield a high return in the future in the form of higher earnings and greater contribution to society.
Question-4
What is the role of health in human capital formation?
Solution:
The health of a person helps him to realise his potential and the ability to fight illness. An unhealthy person becomes a liability for an organisation. Health is an indispensable basis for realising one’s well being. Henceforth, improvement in the health status of the population has been the priority of the country. Our national policy, too, aimed at improving the accessibility of healthcare, family welfare and nutritional service with special focus on underprivileged segment of population.

Question-5
What part does health play in the individual’s working life?
Solution:
Health plays a vital role in an individual’s working life, since no firm would be induced to employ people who might not work efficiently as healthy workers because of ill health and not only that, people who are physically or mentally ill cannot work.
Question-6
What are the various activities undertaken in the primary sector, secondary sector and tertiary sector?
Solution:
The various activities have been classified into three main sectors i.e., primary, secondary and tertiary. Primary sector includes agriculture, forestry, animal husbandry, fishing, poultry farming, and mining. Quarrying and manufacturing is included in the secondary sector. Trade, transport, communication, banking, education, health, tourism, services, insurance etc. are included in the tertiary sector.
Question-7
What is the difference between economic activities and non-economic activities?
Solution:
Economic Activities Non-Economic Activities The activities in the third sector result in the production of goods and services. Activities, which are not performed to earn money but to get some satisfaction, are called non-economic activities. These activities add value to the national income. These activities are called economic activities. These activities are performed to discharge social obligation or for physical fitness or for recreation. EconoThese activities add value to the national income. These activities are called economic activities. These activities are performed to discharge social obligation or for physical fitness or for recreation. Economic activities have two parts — market activities and non-market activities.Market activities involve remuneration to any one who performs. People visiting places of worship, providing relief to the victims of flood and earthquake, engaging in sports activities, gardening, listening to radio orwatching television are all examples of non-economic activities Non-market activities are the production for self-consumption. The three activities most often reported are cleaning, cooking and child minding.
Question-8
Why are women employed in low paid work?
Solution:
Women are paid for their work when they enter the labour market. Their earning, like that of their male counterpart, is determined on the basis of education and skill. A majority of the women have meagre education and low skill formation and hence women are paid low compared to men. Most women work where job security is not there.
Question-9
How will you explain the term unemployment?
Solution:
Unemployment is said to exist when people who are willing to work at the going wages but cannot find jobs.
Question-10
What is the difference between disguised unemployment and seasonal unemployment?
Solution:
Disguised UnEmployment Seasonal UnEmployment In case of disguised unemployment people appear to be employed. Seasonal unemployment happenswhen people are not able to find jobs during some months of the year. They have agricultural plot where they find work.This usually happens among family members engaged in agricultural activity. People dependent upon agriculture usually face such kind of problem. The work requires the service of five people but engages eight people. There are certain busy seasons when sowing, harvesting, weeding, threshing is done. Three people are extra. These three people also work in the same plot as five people.The contribution made by the three extra people does not add to the contribution made by the five people.If three people are removed the productivity of the field will not decline.The field requires the service of five people and the three extra people are disguisedly employed. Certain months do not provide much work to the people dependant on agriculture.
Question-11
Why is educated unemployed, a peculiar problem of India?
Solution:
In the case of India educated unemployment has become a common phenomenon. Many youth with matriculation, graduation and post graduation degrees are not able to find jobs. A study shows that unemployment of graduate and post-graduate has increased faster than among matriculates. A paradoxical manpower situation is witnessed as surplus of manpower in certain categories coexist with shortage of manpower in others.
Question-12
In which field do you think India can build the maximum employment opportunity?
Solution:
Since I. agriculture is the backbone of India, India can build maximum employment opportunity in agriculture based industries..
II. In recent years many job opportunities are also available in the tertiary or service sector     such as communication , transportation etc.
Question-13
Can you imagine some village which initially had no job opportunities but later came up with many?
Solution:
Sriperambathur, Nanganneri, Koodangulam, etc. are some of the villages which did not have job opportunities earlier but later came up.
Question-14
Which capital would you consider the best — land, labour, physical capital and human capital? Why?
Solution:
The capital I consider the best is Human Capital because there are countries like Japan that have invested in human resource as they did not have any natural resource. These countries are developed and rich countries. They import the natural resource needed in their country. They have invested on people especially in the field of education and health. These people have made efficient use of other resource like land and capital. Efficiency and the technology evolved by people have made these countries rich and developed.
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